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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 The most important form of precipitation for the crop is wygd $ o aul &1 el geayel © U S g ¥

A Snow ﬁ'ﬂ'ﬂ'ﬁl (Snow)

B Drizzle a1 9idt (Drizzle)

c Rain 7f (Rain)

D Dew S (Dew)

Q.No: 2 The plant nutrient when supplied in excess prolongs the growing period and delay crop maturity: | B T uIgy O da st A # R en w e B sl ot e s € AR wud uea 3 38 &1 o a8
A Iron | ) ‘t'ﬂ's} 7

B Phosphorus BRI

c Nitrogen AggreE

D Potassium ure Ry

Q.No: 3 What are the organisms called which c.hange their body temperature according to the surrounding? FIATa0] F AR TR & aOHE S dgen 9 offd $ 3 FEd 22
A Hypothermic o - - mslﬂuﬁ&rr ¥ S .

B Poikilothermic g feaufifs

C Sphygothermic wriiufile

o] Homeothermic giftaitufife

Q.No: 4 Father of soil microbiology is: a1 W Wi [ & o S 87

A Bejerink ECiisa

B Liebig | Ferfem

C A. Waksam | u. gam

D S. N. Winorgradsky 9. . fatirewat

https:/imppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx

1/40



T125/23, 12:50 PM mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx

Q.No: 5 Improved Indian variety of wheat, carrying genes of dwarfness and higher percentage of protein? T & ol R WEH § 9= uiowa 91 e g @ URdE e 1§ guR e

A Lerma safed i '\an&lH

B Sharbati sonara TREd WA

() Kalyan Hedror

D Sonalika wrer

Q.No: 6 Which of the following elementis assodated with Oz evolving complex of PSII? Tr=faf@a & O S ar aca PSIE & O Asheer E;ﬁ o gafE §
A Magnesium (Mg) | Aefifre (Mg)

B Manganese (Mn) i (Mn)

C Sulphur (S) .W (s)

D Nitrogen (N} e (N)

Q.No: 7 Depth of cultivated soil is up to: | waa ot g ) 9 orewrd Rt Eh 2

A 45 cm | 45 @it

B 15 cm 15 &t

c 30 cm {30 &

D 5cm 5 it

Q.No: 8 The law of diminishing returns assumes B WiIwe/ar S Fam T g,

A There are no variable factors of production IaTEA & uftaddie (W) R T

B Some factors of production are fixed IR b §O PRE [RR Tl

C Utility is maximized when marginal product falls aia gae F9 §9 W Iugifan mﬁqﬁﬂa‘l

D There are no fixed factors of production Samea & fifia ove 78 21

Q.No: 9 Economically useful crops with desired improved character are raised by gifsa I 9 g enffes v 3 Sydndt wod Fad gy 9mE e @
A Biofertilizers 99 Sive

B Natural selaction wipfas 97

[ Hybridization HHor

D Biopesticides ECCace picat

Q.No: 10 Soil are surveyed and classified on the basis of distinctive feature of: it 1 e SR Fifewor fFw e A ¥ R W R o g2
A Soil horizons Har fufes

B Soil profile frdt w1 W
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Q.No: 11

U 0o m >

Q.No: 12

o 0o w

Q.No: 13

o 0 W

Q.No: 14

o 0O w

Q.No: 15

Parent material

Soil samples

Which active substance secreted from the saliva of gall midge larva and are responsible for gall
formation (silver-shoot} in rice-

Phytogen
Glycogen
Cecidogen
Spinosad

The law of diminishing returns applies more generally to
Agriculture

Industry

Marketing

Entrepreneur

Hygroscopic moisture is held at:
200 atm.

100 atm.

31 atm.

99 atm.

Cropping system which invelves the raising- of crops, animals and or-' tre-es is called .
Multiple cropping

Mixed farming

Intercropping

Mixed cropping

Relay cropping is
A system of cropping where two or three crops are grown annually

A system of cropping where one crop hands over the field to the next crop in a quick
succession.

A system of cropping where an associate crop is grown in between the rows of principal

crop

A system of cropping where two or more crops are grown together by mixing of seeds
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Q.No: 16
A

B
C
D

Q.No: 17

o 0 W P

Q.No: 18

o 0 w

Q.No: 19

o 0o w

Q.No: 20

[ B o T~ B

Q.No: 21
A

B
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The acid growth hypothesis offers a possible explanation for-
Gibberellins induced internodal elongation

Auxin-induced cell expansion

Cytokinin induced rapid proliferation of cultured plant cells

Ethylene induced senescence

Sesbania rostrata is a photoperiodic sensitive plant with nodules in its stem, which mutant variety is
developed by BARC, Bombay which is photoperiod insensitive, salinity tolerant and can fix nitrogen.

TSR-1
ATS-1
TRS-1
PAL-I

Net ATP consumption to fix 6 molecules of CO;in Calvin cycle is-

18 ATP
24 ATP
12 ATP
6 ATP

Which statement about photorespiration is true?

It is the only way of respiration in plants.

In photorespiration Rubisco fixes atmospheric COa.

It operates in mitochondrion.

Itis limited to C; plants only.

A plant that has been deliberately altered or selected by humans; it is the result of artificial selection
is called

Gene expression
Natural selection
Cultigen

Translation

Which of the followings is a bacterium involved in denitrification?
Azotobacter

Nitrobacter
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TSR-I
ATS-1
TRS-1
PAL-I

fedst =50 # CO,F 6 373 &1 R et & T 9@ ATP &Y &-

18 ATP
24 ATP
12 ATP

6 ATP
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c Pseudomonas EoEiicing
Nitrosomonas B EEGILIEIE
Q.No: 22 The product label should indicate whether the pesticide is highly toxic by 78 & g1 U dad S 3 S it S s Feares st e @
A Skull and crossbones signs HUgt 3R Siaas dda
B Bones sign gial @1 wdba
C bones on both side of skull sign @i ¥ forg & ST ok @1 gf3al
D skull sign e wFHa
Q.No: 23 Which of the followings is an igneous rock? Frefafas 7§ @ S s 9gE E2
A Quartz Ggrc
B Marble AR
c Mica schist w2 / v e
D Slate wie
Q.No: 24 Export- Import bank was established on 1st January Fufa-srarg de @1 v e ad 1 sHad 31ge diz
A 1981 1981
B 1982 1982
c 1083 1083
D 1980 1980
Q.No: 25 g:::;\ccss'itlmulated research to improve crop production , Who is considered as the "father of RS g % R S 1 SR Fiva, A "ol 1 S ST T 32
A Charles Darwin ared SIfaA
B Muller qeR
C Robert Hooke. e g
D Gregor Mendel IR Tigd
Q.No: 26 | Which of the following statements about photosynthesis is not true? e & | T W DU TR & o W 6 87
A Photosynthesis Is a biological exidation-reduction process. T WY U WA sifatteor- srawvor wism #
B Pliotosynthesis is Os-evolving process. TRTRITLEITOT O, TSI o aTell WiHaT g
c In photosynthesis CO; is reduced TERTIRILESOT 7 CO- &1 TS OTRIET &
D In photosynthesis HQ is reduced TeRTARETOT 3 H0 1 STEeOTEIaT &
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Q.No: 27
A

B
C
D

Q.No: 28

o 0o w

Q.No: 29

o 0o w

Q.No: 30

o 0o w

Q.No: 31

o 0o w

Q.No: 32
A

B
<
D

The daily weather forecast is obtained in the country from
Pune

New Delhi

Mumbai

Hyderabad

Which statement about the light is not correct?

In light wave, both electric and magnetic fields oscillate perpendicularly.
The energy of light is directly proportional to wavelength.

Light has dual Characteristics of Both Particle and Wave.

Light is a transverse electromagnetic wave.

Which of the following act as a soluble protein to which in turn reduces photosystem I (P700),

Plastocyanin
Cytochrome b6 f complex
Plastoquinones

Pheophytin

Generally the preferred intercrop in Sugarcane is
Castor

Short duration pulses

Maize

Rice

In photesynthesis, light independent r-eact.ions- (dérk reac-tion.s) také plaoe.in- .
Granal thylakoids

Stromal thylakoids

Lumen

Chloroplast stroma

Net profit is computed in the
Trading account

Trial balance

Profit and less account

Balance sheet
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Q.No: 33

o 0w @

Q.No: 34

o 0w

Q.No: 35

o 0 W

Q.No: 36

o 0w

Q.No: 37

o O w

Q.No: 38
A
B

Tomato breeders use which mutation to reduce the softening of fruits and produce firm fruits with
delayed ripening effects but decreased nutritional value, color and flavor of the tomato.

Pin mutation
Rin mutation
Pen mutation

Tin mutation

What type of development parthenocarpy is

Seedless fruits are formed from ovary with fertilization.
Seedless fruits are formed from ovary without fertilization.
Fruit, with seeds, are formed from ovary with fertilization.

Fruit, with seeds, are formed from ovary without fertilization.

First stable product in Calvin cycle is-

3-Phosphoglycerate

Dihydroxyacetone-3-phosphat
Glyceraldehyde-3-phosphate
Ribulose-1,5-bisphosphate

Irrigation with sodic water increase the availability of:
Sodium

Molybdenum

Zinc

Chloride

Triticale is a potential energy crop and is a result of
Crossing two breeds of wild ancestral Rye
Crossing of wheat and rice

Crossing of two modified forms of wheat

Crossing wheat and rye

The bowed shape of the production possibilities curve illustrates.
Law of Increasing Marginal Cost

The demand is relatively elastic
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c
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Q.No: 39

o 0O w

Q.No: 40

o 0 w

Q.No: 41

o 0 W

Q.No: 42

o 0 w

Q.No: 43

o n W

Q.No: 44

The production is unattainable

The production is inefficient

Soil containing high proportions of organic matter have following colour:
Yellow colour

Red colour

Light colour

Dark colour

The line drawn on map connecting points with equal rainfall is called
Isobar

Isohyet

Isohels

Isonephs

When the component crops in the cropping system are equally competitive, aggressivity index is

2
1
-2
0

Obligate parasites are organisms that:

Are saprophytes but can also become parasites.
Consume living host.

Are pests but can also become saprophytes

Consume only dead and organic matter.

The connecting link between glycolysis and Krebs cycle is Acetyl CoA, which is produced by
the enzymatic action of-

Pyruvate reductase
Pyruvate kinase
Pyruvate dehydrogenase complex

Hexokinase

Despite of highly photosynthetically efficient, C; plants ave less productive, because-
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A C; cycle operates in dark., G IR F AT T
B C; plants also exhibit photorespiration C; Tler wenmar aader st v fEid i &
c Rubisco is absent in C; plants Tl C; Tt sl §
D C; plants are very less in nature C; q‘iﬁu@ﬁma@ma‘
Ig e g o1 s R St 7 g, e Pufon, =im ok ger 3wl
Q.No: 45 Who suggested product, pricing, place, promotion all these in a company represents "Market Mix"?
"ifid qroR (e ) @1 uRffE wxa ¥
A Philip Kotler fisfem Feaw
B Stephen Morse e 7
c Neilsen Fraw
D Neil Borden i iEq
i is of hi . .
Q.No: 46 I:;;zn;:;ﬂ:f pureline was proposed by Johannsen on the basis of his studies with common bean i an # 3 2y % W o 9 B % Ty fort e et Ford) e o 2
A Albert Pinto e fiet
B Princess i
C Calypso Hfere
D Muller E:GRd
Q.No: 47 Hydraulic conductivity of soil varies directly with: ot &1 grzgifers arermar 7w wror & wy fisa &d &2
A Water holding capacity e UTROT AT
B Capillary porosity Eabicak: ol
C Total porosity o YT
D Non-capillary porosity TR-S Rt Tl
Q.No: 48 E;Jalll-lat:matwe effort of which system is to safeguard the genetic diversity of agriculturally important PRADY T el &t e fafiaT 28 <& ¥ fog — 0
A National plain Germ system ﬂﬁh‘ﬁ?ﬁ i‘rrrrq[nvn“cﬁ
B National Protoplast Germination System TP e ST wumeRt
C National Plant Geology System It e YR v
D National Plant Germplasm System ?TE"‘TW ST Foret
Q.No: 49 Which is the alternate crop to rice in rabi season both in command and well irrigated areas in South ‘af\w e 7 e 3R st o RivE O A < e A % e Pd D

India
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o 0w

Q.No: 50

o n o

Q.No: 51

o n @ @

Q.No: 52

o 0o W

Q.No: 53

o 0w

Q.No: 54

Sugarcane
Wheat
Sunflower

Groundnut

Short supply of water to meet the demand for crop duration is called
Meteorological drought

Hydrological drought

Agricultural Drought

Physiological drought

The Golden rice is a variety of rice {Oryza sativa) produced

mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx
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R

through genetic engineering to biosynthesize a precursor of  Tics VIgd JI90 & Uw fred € (Siifven &fean) R sirdfre Softfigfon % argm 3 el ¢ & swga & Seewid oo & e gafia fmar s ¢, e @ ¢

vitamin A is called

Glucuronate, ‘ﬁﬂﬁﬂﬂz
ergocalciferol i
Beta-carotene Hie Fd=

Phytyl pyrophosphate HIZERd URRIBIhE

Which cropping system is occupying the largest area in India
Rice - Rice - Rice

Rice - Oilseeds

Rice - Wheat

Wheat - Rice

The physical state of atmosphere at a given place and time is referred as
Mico climate

Weather

Environment

Climate

Which of these best explains fixed assets?

Are expensive items bought for the business

Are items which will not wear out quickly

Are of long life and are not purchased specifically for resale

Are bought to be used in the business

| W T 4R A TR 5 4 o W

T - T - ae
araw - forre
e - g

g - a@q

ol fw g e R T W g 9 i i 9 e e g
&N Srerary
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EGEIED

Frafafes 3 & o5 s sulrd o wad o amen s 82
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et sfia= dan1 € sik fadw &0 & Tidwy & fog 78 @8t ot €1
waard § Iudn & g @did o §
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Q.No: 55

o N w oF

Q.No: 56

o 0w

Q.No: 57

o o w

Q.No: 58

L~ o ==

Q.No: 59

o 0 W

Q.No: 60

In which planning period profit rule says that gross return should cover variable cost:

I. Long run

II. Short run
Neither I nor II
Only IT

Both I and II
Only I

Average fixed cost is equal to

Total fixed cost/total variable cost
Total fixed cost/Input

Total fixed cost / 100

Total fixed cost/output

Iso-revenue line is a:
Vertical Line
Straight line
Horizontal line

Curve line

In no- tillage system, the surface soil layers have
Higher total pore space

Lower bulk density

lower water infiltration

Higher bulk density

Which one of the following is not a physical factor affecting the type of farming?
Climate

Labour

Topography

Soil

If marginal product is below average product-
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o N W

Q.No: 61

o N w

Q.No: 62

o 0w

Q.No: 63

o 0 W

Q.No: 64

o 0 w =

Q.No: 65
A
B
c
D
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Average variable costs will fall e uRadTeite @rme o1 € st

The total product must fall WWWWW

The average product will fall e IeaTe HH E

Total revenue will fall T e | P st

Normally South -West Monsoon in Kerala starts at Y H AR T SR w1 € §
May 1st Week 11§ & WUH WS

June 1st Week S F WYH e

June 3rd Week A & ArEY T

May 3rd Week ﬂf & WY qETE

Which one of them was the first who outlined the method of developing multilines in wheat T § & Uge afed 4 Frgi T § Aediang Aotia oo ® Ay $1 S0 our $t
M.S. Prasad TH.TH. W4HIg

T. Fairchid & iy

C. Darwin it sifda

Borlaug aRan

The Average Variable Cost Is the resultof_____ 7 | 3 OREd T T ... T RO

Total variable cost and fixed cost @atﬁaﬁaﬂamaﬁv%mr
Output and marginal cost ) Iare AR Aaia e

Marginal coat and total variable cost mmmwuﬁﬂﬂmﬁﬁm

Total variable cost and output Eﬁ‘r‘lﬁﬂ%ﬁ!ﬂﬂ T SR I

T feterer fofe amoeimT 0°C ¥ A BIaT 8, Y 73T S0 7RI S{awer ¥ O JaeT # ager il o,

When Due poeint temperature is below 0°C, moisture tums directly from gaseous to solid state called O HEIATATE
Glaze qHD
Frost qrem
Sleet i & ary qut
Dew 031
The succulence and lodging in plant is due to ‘excessive’ application of: ferads areite wim ¥ SR QY ¥ e o s giar 22
Zinc Riw
Hydrogen 'GF%E'WH
Potassium TRy
Phosphorus IR RS
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Q.No: 66
A

B
C
D

Q.No: 67

Q.No: 68

o N ®w F

Q.No: 69

o 0 w

Q.No: 70

A data of the entire parent off spring relationship s maintained and known as-
Track of pseudo compatibility.

pedigree record

History of self-compatibility.

Mean of pedigree

Which statement about mechanisms of sap flow in plant vascular tissues is not true?
Sap flow in xylem is mostly unidirectional, whereas in phloem, it is bidirectional.

Driving force for sap flow in xylem is transpiration from leaves, whereas, in phloem
it is dependent on active transport of sucrose at source.

Pressure potential is positive for xylem and for phloem, it is negative.

Site of sap flow in xylem is nonliving vessel el ts and tracheids, however, it is
through living sieve tube elements, for phloem

Quantum Loss
Quantum Requirement
Quantum Yield

Quantum Efficiency

One of the major problems in rice - wheat cropping system is
Delayed wheat sowing

Exc i ds in wheat

Delayed rice sowing

Early rice sowing

The broad sense heritability is expressed mathematically as..?
H? =vgivp

h=vg+vp

h=vp/vg

h=vgxvp
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Number of Oz melecules evolved per quantum of light absorbed in photosynthesis is defined as:  qfysRa et

wiew g
wied maTasdr
wieH Y
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U B 8 F g
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v = ddr 7 el
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Q.No: 71

o 0 w >

Q.No: 72

o 0w

Q.No: 73

v 0 w =

Q.No: 74

o 0 W

Q.No: 75

o 0 W

When fixed cost doesn't change with the change in output..?
I. Marginal cost would be minus.

I1. Marginal cost would be plus.

III. Marginal cost would always be 0.

Only II

Only III

All I, IT and IIT

Only I

Why Is gravity a factor in watersheds

it causes the water to flow away from a watershed
it causes the water to flow towards a watershed
water flows towards sewage drainage system

water seepage

During the process of light reaction in photosynthesis, which among the following act as ultimate
electron donor?

Chlorophyll *b’
Oxygen
Chlorophyll *a’
Water

Progeny resulting from the interbreeding between two plant species is called
Heterozygous

Hybrid

Homozygous

Clone

First commercial use of transgenic tomato & tobacce begin in which country
America

China

India

Ireland
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Q.No: 76
A

B

Q.No: 77

o 0w

Q.No: 78

Q.No: 79

o 0 W

Q.No: 80

o N @

Q.No: 81
A

Which statement about Rubisco is not correct?
Mg is required for Rubisco activity
Rubisco acts as oxygenase in photorespiration.

Rubisco Activity increases in the dark.

Rubisco acts as carboxylase in Calvin cycle.

World Meteorological day is celebrated on
14th August

15th August

23rd March

15th January

What is the correct sequence of reactions in Calvin cyele (C; cvele)?
Carboxylation ™ Regeneration ™ Reduction
Carboxylation® Reduction» Regeneration

Carboxylation > Regeneration P Oxidation

Carboxylation ™ Oxidation ™ Regeneration

The G, oxidative photesynthetic carbon cycle is associated with-

Hatch and slack pathway
CAM Metabolism
Pentose phosphate pathway

Photorespiratory cycle.

The desired Land Equivalent Ratio (LER) for the intercropping to be beneficial is
0

<1

>1

1

The predominant protein in plant leaves, catalyzing the first reaction of the Calvin-Benson cycle is-

Aldolase
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Q.No: 82

o 0O W

Q.No: 83

o0 W

Q.No: 84

Q.No: 85

o n @

Q.No: 86

0 owo>

D
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Transketolase
Rubisco

Phosphoribulokinase

Yearly sequence and spatial arrangement of crops or crops and fallow on a given area is called
Cropping pattern

Crop rotation

Cropping System

Farming system

The value of respiratory quotient is infinite () in case of-

Anaerobic respiration
Substrate is Fat
Substrate is organic acid

Partial oxidation of carbohydrate

Efficiency of applied fertilizer in rice crop is:
5-50%

10-75%

60-90%

50-75%

The crop suitable for cultivation in saline sodic soil would include:
Sugar-beet and rice

Soyabean and sugar- beet

Soyabean and rice

Trice and maize

The process in which nutrient density of food crop is

increased through conventional plant breeding or modern

bictechnology without sacrificing any characteristics-

biofertilizer Sfe @™
Biofortification AT R
bioremediation WRe IuaR
bioleaching i Fae
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Q.No: 87

o N m P>

Q.No: 88

o0 w

Q.No: 89

O 0O @ P

Q.No: 90

v 0O @

Q.No: 91
A

A farmer having more than ten hectare of irrigated the land, is known as:
I. Small farmers

II. Marginal farmers

III. Big farmers

Only III

Only I

All I, IT and III

Only II

Dairy farming, poultry farming, crop farming and pig farming are
Types of farming

Dry Farming

Mixed farming

System of Farming

Growing of two or more crops simultaneously in strip wide enough to permit
independent cultivation but narrow enough for the crops to interact agronomically is
called

Strip intercropping
Mixed intercropping
Row intercropping

Relay intercropping

The process by which humans use
plant breeding to selectively develop
particular phenotypic traits by
choosing plant males and females
which will sexually reproduce and
have offspring together.

Genetic flow. SEfRE v
Gene pool iER ]
Natural selection WIpfoe T9q
Selective breeding AGATEHS o=

Which main step of the following is not carried out by plant breeding technique?

selection and isolation of desired recombinants
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B gene bank gk ca

C selection of host and carrier Ao SR TEF BT TG

D cross hybridisation among the diseased parents I Arar-fear % 4 sy gieneys

Q.No: 92 Lines connecting the points of equal water table are called T Wi difee & [gadl F 9 Tl Yan Fead §
A Isobar AFHER

B Isobath Gﬂs'\‘ffﬂw

g Isohyte amgvigEe

D Isotherm armﬂt‘lﬁ

Q.No: 93 A cross is made between two homozygous parent plants, is called monohybrid cross. In this cross F2 | 3 Tl 1@ Wl % 9 o sy a=mar oran 8, ol Aiersias @19 Fer oam 1 39 610 7 F2 Fersfs s

phenotypic ratio is . %l
A 1:1 H B |
B 2wl 2l
c 1:3 1:3
D 3:1 3:1

Q.No: 94 Crops that have been genetically modified to produce their own protection against bugs are called d el forg F1ET 9 orodl Wean & ferg Sl U 3 Weiia i w8, seerd g-

A Herbicide resistant crop Wﬁﬂ ﬂﬁﬂ’t‘iﬂ e

B Drought resistant crop g uferteht waa

C Disease resistant crop 1 ufeRi wae

D Pest-resistant crops Fie ufortdt wae

Q.No: 95 Clone is described as- . M & w9 7 affa -

= :ar::;poc::gt:i::r:etlalrganisms which are genetically identical and have all been produced from BT 91 et B T ot Wﬂ AT % S wh e & ™ Sl & 39w E"I‘a‘
Genetically not identical cells sexually produced by different progenitor cell IERe w0 @ W Sk e = e e SRt grt de S garfia 9§
Genetically identic;cells sexually produced by different progenitor cell ﬂl‘jﬂﬁlﬁ' Y | A ﬂ‘ﬂ'ﬁlﬂﬂqﬁﬂ fafim aﬂﬁraﬂﬁm\ﬁm I v 3§ g e
Genetically not identical cells asexually produced by different progenitor cell Sﬂﬂaﬁlﬂv‘ w0 B T BHRGTT Te & ST-aT "Lﬂﬂ FiRr1 g aretfies w7 & Fanfed gidt €
Costs that vary with production are..? ST AT e & WY Faa 6.7

Q.No: 96 I. Marginal costs 1. wid @
I1. Fixed costs I1. RR &

A Only IT Had 11
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B Neither I nor IT FdAITE I

c Only I Faa1

D Both I and II 1 3fRR 11 g

Q.No: 97 Absence integration between resources and activities in the process of production is called: earet @t ulssan A s ofR ARl F @i eruiRif i F 5 e
A Quasi-linearity f @

B Quasi-non-linearity g-TR-Yfawar

c Non-linearity R-Afawa

D Linearity YEwar

Farm management concern with obtaining the maximum yield per hectare and considers per unit cost  Hf (HTH) Waer Uiy SRR siftpad U= Wi F3 F Y-

QNo: 98| orefore it is: W S U g @ UR R S 8, SO 9E Eo e,
A Integrating Science et fage
B Practical Science g g
¢ Broader Field IS &
D Profitability Oriented ATHYGT 3HE
When TPP is maximum, the MPP willbe e St e 8, & T ... Em
L. Maximum 1. Sift@an
Q.No: 99
IL. Zero I 3
II1. Minimum IIL. <AdH
A All 1, I and III w4t 1,11 9 1
B Only II Fae 11
6 Only I Faa I
D Only ITI ' Fae 111
Q.No: 100 | Which of the following is not correctly matched? . . Frfef@a & 9 @ @ gm Wt &1 ﬁﬂﬂﬁﬂﬂﬁ%') .
A MPP rises continuously - Till MPP is more than APP Wﬁ%ﬁﬁ%-mwﬁqﬂ@ﬁmaﬁw
B APP & MPP both falls but TPP rises. When MPP is less than APP but more than zero Thd o wadidt S ARe ¥ afew S o o 81 ww oadid ol @ o e g @ o @
'] | TPP rises continuously - Till MPP is not equal to Zero et & P ofF o6t - o 9o oodidt g & awrae | g o
D iApp rises continuously till APP and MPP is both equal. Wﬁmﬁﬁ%ﬁﬁ%mﬁmﬁmﬁﬁﬂfﬁ
Q.No: 101 Choose the odd one out from the following monuments (in terms of locations)- Frmfofes wRet § 9 faem 1 g7 (Ft & el #) -
A Hawa Mahal FaT HEd
B City Palace Udaipur frdt B e
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c Mehrangarh Fort

D Sikandra Fort

(Q.No: 102 Madhya Bharat, has also known as Union,
A Kshipra Union

B Narmadapuram Union

C Jhansi Union

D Malwa Union

Q.No: 103 Quentin Tarantino is a famous

A Scientist
B Cricketer
C Economist
D Filmmaker

Who has topped as the most generous person in the country with an annual donation of Rs

RN 11,161 crore, the EdelGive Hurun India Philanthropy List 20222
A Shiv Nadar

B | Salman Khan

o | Anil Ambani

D Ratan Tata

Q.No: 105 | What are the rocks formed by the cooling of magma on the earth's crust?

A | Metamorphic racks
B | Sedimentary rocks
C | Intrusive igneous rocks
D Extrusive igneous rocks

Q.No: 106 Where was the Congress session of 1888 held?

A Allahabad
B Bombay

c Calcutta
D Nagpur

Q.No: 107 | Who first introduced canal irrigation in India?
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A | Muhammad Ghori

B i Ghiyassudin Tughlaq

[ Firoz Shah Tughlaq

D | Mohammad Bind Tughlaq

Q.No: 108 | Who is the Current Attorney General of Madhya Pradesh?

A IShrl Narottam Mishra

B Shri Meena Singh

c | Shri Kamal Patel

D Shri Purushaindra Kaurav

Q.No: 109 Where is the Jawaharlal Nehru Krishi Vishwa Vidyalaya located in Madhya Pradesh?

A Khargone
B Bhopal

C Satna

D Jabalpur

Q.No: 110 i‘Go back to Gita’ was a prominent slogan given by which social reformer?

A Ramkrishna Paramahamsa
B |1sh Chandra Vidyasag
C Swami Vivekananda

D | Dayanand Saraswati

Q.No: 111 What is the base year for calculating GDP in India?

A 2004-05
B 2014-15
C 2011-12
D 2009-10

Q.No: 112 Where is the Shyam Shah Medical College located in Madhya Pradesh?

A Jabalpur
B Rewa

c Dhar

D Satna
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Q.No: 113 | Who is the first CEQ of Twitter?
A i Paul Singer
B Jack Dorsey
C | Noah Glass
D

| Evan Williams

Q.No: 114 Find the correct statements about MPC -

A Bothaand b

B The Committee will have 6 members
C Neither a nor b

D It is related to RBI

Q.No: 115 The electronic configuration of chlorine is:
A 2,8,7

2,7,8

2,8,8,7

2,7

o 0o w

In which of the following types
of interactions does one
species harms or restricts the
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Q.No: 116 |other species without itself i@ & 3 fow woR $1 sl § e nurk gud e & S S ad § a7 9 o g § g WY o weld! @1 St & e 6 o 1eR & wiage THE 9 G w87

being adversely affected or
harmed by the presence of the
other species?

A Amensalism ﬂ'ﬂ's‘-l’lf%lm
B | Neutralism ECIGIE]

C | Commensalism EiRecaioy
D | Mutualism W‘ﬁﬁ?ﬂ

Q.No: 117 | CHCI3 is known as—

| Gypsum
Chloroform

| Benzene

o N w oF

i Bleach

CHCL &} FFUH SIS -
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Q.No: 118
A

B
c
D

Q.No: 119
A

B
C
D

Q.No: 120

o 0 @ P

Q.No: 121

o 0w

Q.No: 122

o 0O w

Q.No: 123

| Which of the following is a unit of electric current?
i Coulomb

|Joule

Ampere

| Kelvin

This group of vertebrates comprises of the highest number of endangered species
Mammals

Reptiles

Birds

Fishes

What is the name of the law that states that the current flowing through a conductor is directly

proportional to the potential difference across it, provided the temperature and other physical

conditions

remain constant?
Faraday's law
Kirchhoff's law
Ohm's law

Coulomb's law

Photo-phosphorylation is the process of:

ADP formation from ATP in the presence of carbon dioxide in the chloroplasts
ADP formation from ATP in the presence of light in chloroplésts

ATP formation from ADP in the preser-m-e of carbon dioxide in the chloroplasts

ATP formation from ADP in the presence of light in chloroplasts

The red algae usually reproduce vegetatively by.............
Red algae

Laminaria

Brown algae

Fragmentation

Calcium deficiency mainly occurs in the absence of which vitamin?

Vitamin A
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Q.No: 124
A

B
C
D

Q.No: 125

o 0| w

Q.No: 126

o a o

Q.No: 127

o 0O W

Q.No: 128

o 0w

Q.No: 129

Vitamin D
Vitamin B6
Vitamin C

Malaria is caused by:
Protozoan

Fungi

Bacteria

Virus

Lungs are the primary organs of
Respiration

Perspiration

Constipation

Digestion

What is the 2015 National Health Policy's purpose?
To improve the overall development of society
To improve the quality of life

To address the urgent need to improve the performance of the health system

To address the urgent need to improve the performance of transportation system.

Which of the following substance/s is/are sublimable?
All of the given options

Iodine

Naphthalene

Ammeonium Chloride

Where does the process of photosynthesis occur in plants?
In Centrosome

In Chloroplast

In Nucleus

In Mitochondria

Which of the following first-generation computer had the most popularity?
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- B o - R

Q.No: 130

g o w

Q.No: 131

o 0O W

Q.No: 132

|- e T - R ]

Q.No: 133

o 0 W

Q.No: 134

o 0w

IEM 1130

None of the given options
IBM 360

IBEM 650

Which of the following series of super computers was released by C-DAC mission?

FRONTIER
EDIAC
UNIVAC
PARAM

Pick the odd one out.
mpeg
.com

.org

.net

Which of the following checks all the devices and loads their drivers so a user can

work properly, when a computer starts?
Computer systems

Hardware

Software

Operating system

Which network topology requires a central contraller or hub?
Star

Hybrid

Bus

Ring

Component Virus
Document Software
Computer Hardware

Super Computer
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addtun(iem) 1130

fw Ty fawedi § @ 918
HESTA(IBM) 360
HEAITH(IBM) 650

C-DAC T g1 yur Srogex @t Praffed § & wi- shaen<iia ol o o 4

FRONTIER
EDIAC
UNIVAC
PARAM

fams 1 gf
mpeg
com

.org

.net

‘ﬁaﬁvﬁaﬂﬂﬂqwmﬂaﬁaﬁm%aﬁ?msﬁaﬂaﬁmm%mﬁﬁmwéﬁmmmﬁmmaﬁ

|1i’ruq3:?ﬁm
L
|HTIE'3‘€I?
sTqfe Rreew

'Sasser’ was in operation in 2004 in computer networking. It is associated with which of the following?

fare Aead STo % oy dew dier 1 B4 @) oraTaeE €t 27
W

wefis

o
fer

Sasser 2004 ¥ $efeY Aeald e 7 ul, 98 s WY W91 g 27

FUHE IRH
Tigife wireamy
HUER BTEAT
W T
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Q.No: 135 What is the alternative term for a programmable chip?

A PROM

B ROM

c Microcontroller
D RAM

Q.No: 136 Which of the following is the function of the Imaging and Video Input Devices?

A A joystick allows an individual to move an object in a game.

B A computer input device in the form of a light sensitive and used in conjunction with
a P 's CRT display.

C It is used to digitize images or video from the outside world into the computer.

D A peripheral device designed to be connected to a computer or console gaming

system.

Q.No: 137 iThe rows in a database are called

A |Headers
B | Fields

C Records
D | Ranges

Q.No: 138 What is the best-case time complexity of the linear search?

A 0o(1)
B O(n log n)
c 0o(n)
D ('J(-n1

Q.No: 139 | Which one of the reasons is incorrect with respect to the success of the cpen-source software?

A | Lower cost

B | More flexibility
C Low reliability
D | Better quality

Q.No: 140 | What are some examples of different input devices from the list below?

A Optical/magnetic Scanner
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B | Manual Scanner Hger e
C i Simple Scanner YR TR
D | External Scanner el B
Q.No: 141 Which of the following can be used to navigate documents? Frfefaa 4 3 Rrae s w1 3R w9 % e R o sea g2
A all of the given options ﬁ'lz 111zmﬁ s
B hyperlinks BRI
4 frames %
D web toolbar 9 gaar
Q.No: 142 Which of the following is the latest version of windows? P & A F19-11 fEw &1 78909 T (latest version) €2
A Windows 11 fage 11
B Windows 9 |fEsiw o
e Windows 10 figwr 10
D Windows 8 fidw 8
Find out the wrong term from the given alphabet series. ' &) 7€ avforen gwen # Tea v i S
Q.No: 143 !
CAT ACQ IGZ LIC CAT ACQ 1GZ LIC
A IGZ IGZ
B Lic Lic
C CAT CAT
D ACQ ACQ
In the following figure, enter the omitted number in place of question mark (?). Fraff@a sl &, vy fg (7) & wm © q@ den 3 FRm
3|4|5 3| 4|5
Q.No: 144
3|77 37 ?
3|10 |22 3| |22
A 12 12
B S 9
C 10 10
D 11 11

George is fifth from the left and Peter is twelfth from the right end in a row of children. If peter T ) e i o AT @ 591 o fex o @ 1287 21 0 tiex 1 3 =i S 3 v

Q.No: 145 shifts by three places towards George,he becomes tenth from the left end.How many children ST & & 98 &Y @ 10aT &9 w1 21 Ui | fad 9= 27

are there in the row?
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o 0w

Q.No: 146

o n @ r

Q.No: 147

Lo R T = B

Q.No: 148

o 0 W =

Q.No: 149

o N0 w

Q.No: 150 | Choose the choice that is related to the third term in the same way that the second term is related to

24
22
21
23

‘Hemang is sixteenth from the top and twelfth from the bottom in merit in the class. How many

students are there in the class?
|30
|21
27
|29

Find the missing letters in the following series.

uJ, SM, QQ, oV, 7
MB
EU
Q
EI

Find out the wrong term from the given alphabet series.

DFK  FEL HDM FEL LBO
HDM

LBEO

FEL

DFK

code?

| 58154781
98654781
| 18654681
| 58654781

the first term.
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24
22
21
23

A FaT H Te § F F Hiwed AN Y ¥ aRed "M W 81 a1 H e o €2

30
21
27
29

frafafad dga & gu &R Jd Sifed?

U1, sM, QQ, oV, ?
MB
EU
iJQ
| EI

&1 % gufETen gEen J e 9e I S|

DFK  FEL HDM FEL LBO
HDM

LBO

FEL

DFK

fesmn smam?
58154781
98654781
18654681
58654781

78 e T o F97 ue F 39 e Fela @ 9% g9 e, ugd ug @ e g
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Lo B o T v= B 3

Q.No: 151
A

B
c
D

Q.No: 152

o 60 w >

Q.No: 153

0 w o=

D

JQRD : KSUH :: LUXL : ?
|MAwP
|PMAW
MWAP
|MAPW

Choose the odd one from the given alternatives.
eaWT

vhoA

Elfg

AUrs

In the following question, two statements are given each followed by two conclusions I and 11, You
have to consider the statements to be true even if they seem to be at variance from comrmonly
known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:

Some notes are coins,
MNo paper is note.
Conclusion:

1. Some papers being coins is a possibility.

I1. All coins are papers

| Only conclusion II follows

Neither conclusion I nor II follows
Only conclusion I follows

| Both conclusions I and II follow

What comes in place of (?)

756 | | 879
534 | | 722
666, ?

482
471
571
562

JQRD : KSUH :: LUXL : ?

MAWP
PMAW
MWAP
MAPW

g e et @ R A 31

eaWT
vhoA
Elfg
AUrs

FrafafEe v #, @ o By 7g § &k ude ¥ o &) Fsed 1 2% 11 e g 81 s sl o s A
B e 1 & g el @ P el A & e o B § R e sl A @ -
1 e, a2 S &), srgERon w2

U g e, i )

L. T3 R %1 fe TF & WE 2 |

7 @t Fremd 1 ok T @ 11 SrgeERw B @

ST Forend 1 o7 11 SreRe oy &

UYATaE g W U 3 HIIW?
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756 | | 879
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666, ?
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471
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Q.No: 154 If DELHI is coded as 73541 and CALCUTTA as 82589662, how can CALICUT be coded? ;ﬁﬂ%l—;ﬁ 73541 % ¥ 1 S CALCUTTA 1 82589662 & ¥ 11 @F&aaﬂ . CALICUT B i EEEH e
A 5978213 5978213
B 5279431 5279431
C 8251896 8251896
D 8543691 8543691
Find the missing number in the given analogy: g o T § g wem 7| e
Q.No: 155
847 :12::964: 7 847 :12::964:7
A 24 24
B 26 26
C 14 14
D 29 29

Q.No: 156 Golu started from his house towards North. After covering a distance of 8 km, he turned towards left g /0 ¥ & S 3 3 7@ v 8 [ o gt ag & & ., a6 915 3R g7 ok 6 frdt @1 ol o9 @®h

and covered a distance of 6 km. What is the shortest distance now from his house? | 31 FEE R F =y gl e 32
16 16
B 12 12
c 11 11
D 10 10
Q.No: 157 | One side of square measures is 15 cm. -What iﬁ the area? o . wl #t TS 45Tl &1 A 15-ﬂtﬁ. Qﬂﬁ i %?
2
A 250 cm® 250 4l
B 225 cm? 25 T
c ‘ 251 cm? 25130
iy .
o 252cm 252 G
Simplify: B GIE T
.No: 158 5
Qe (9)%2 x (19)® + (19)* = (19)7 (9)2 = (19)® + (19)* = (19)°
A 6 6
B 8 8
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C 12
16

Q.No: 159 If x — lx =4, then x2+$ is equal to:

=
A 256
B 326
C 192
D 322

Pipes A, B and C can fill a tank in 10, 15 and 30 hours, respectively, D is an emptying pipe that alone
Q.No: 160 |can empty the full tank in x hours. A, B and C are opened together for 3 hours and then closed. Now D

is opened which alone empties the tank in 30 hours. What is the value of x?
50

45
|60
|a0

o 0O w P

Q.No: 161 |The sum of the squares of 3 consecutive positive numbers is 677, The sum of the numbers is:

A |as
B |42
c as
D |51

), %’ b* _ c*
. ' T 1 7| 4 {)
Q.No: 162 Ifa+b+c=0 then what is the value ofb—c e e

]
-3

o 0 w @

Q.No: 163 AOB is a sector of a circle of radius 9.6 ¢m_ A circle is inscribed in it, as shown in the fig _
whose radius is 4 cm. Find the area of the shaded region. Take n=3.
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12
16

ﬂﬁ'ﬁ—é=4ﬁ,ﬁ’fx2+$ ’-ITHT%”-_

T A, B 3 C HHIE 10, 15 3R 30 42 ¥ TP &% H U Thd §, D U Wiell HI F1al UZy T S sba
T @l x4 F el @) qad 1 A, B SR C @1 U@ WY 3 60 3 fong wien o @ S O g o R
oI & | 5 D &1 Wi @ o S 30 Hel § T P @iell Bl 81 x B A 94 67

A ST S TS % 9l 51 A 677 ¥ YEmadt &1 g
48 -

42

45

51

afrato +c=0%a’r£+:—: +§$r:=n?-rm%?

1]
-3
1
3

o qu S Sear 0.6 fer &, AOB 3w Tieaws §) otm fr apfa o g
T & SHG Howd UF g & T T 4 9T ¥ Sithd BT @ S9%e W
T n=3 W o1
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& i

e i
a ><< 3 . a >< i s
A 2024 cm? 3024 AL
B 1512 em? 15.12 fafr
¢ 17.12 em? 17.12 F=P
D 1024 em? 10.24 ¥

The price of kerosene is Rs. 48 per litre and the price of spirit is Rs. 30 per litre, In what ratio should

Q.No: 164 |the kerosene and spirit be mixed such that the profit after selling the mixture at Rs. 60 per litre be hlly i v iR & qut fRrE 1 e e | a1 e 7 e 3 4

Ferairt s i3 A Mg &) 60 =T Ui oflel M@ W A=A W 50% T I 812

50%7?
A |3:4 _ 3:4 N . N
B None of the given options e m Rt 4 Hﬁ'ﬁ‘qﬁ
C 5:1 5:1
D |2:1 111
Ceachers, s Ro.35000. The nmber of tachers e coldy s 0P tmes e numbergr o | 2,210 70 Tl 3 s o .35000 §, o0 et 1 asferd o g
Q:NozL6s emplove:as‘ if t-he ave;‘age income of the bank employees is Rs.21000, find the average income of P A Rl 31 e 3 B 3 w9 AR 8l
b af S Sl 31 sl o ©.21000 8, @ Rieel Bt oirgd o Fw@ S,
A Rs.36500 %.36500
B Rs.45000 B - o '6.4;00-() o - B
14 Rs.41600 %.41600
D Rs.38500 %.38500

Q.No: 166 Two numbers have a 375 LCM and a 15 HCF. What is the other number if one of the numbers is 457 & demal #1 9.9, 375 N TY, 15 , Teel $Em 45 § @ gEw den 9 dnft 2

A 225 225
B 125 125
C 250 250
D 360 360

'The pair of equations are 4x+6y-11 = 0 and 2x+ky-7 = 0. Find the value of 'k’ for which two systems

Rhio: To2 are inconsistent ?

TIIFE 4x-+6y-11 = 0 AR 2x + ky - 7 = 0 ¥ "k’ F1 5 WA Td SIoA Bod B G4 S0 a9 &2
A 4 4
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B
G
D

Q.No: 168 by a certain percentage, he reaches his destination 50 minutes earlier. By what percentage was

o 0 w o=

o N W »

Q.No: 170

o 0 w o>

Q.No: 171
A

B
C
D

Q.No: 172
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3
|2
[1

A person drives with speed 80 km/hr reaches his destination in 5 hrs. If his speed is increased

his speed increased?
10
20
25
15

A jetplane started 30 minutes late to cover a distance of 2100 km from its scheduled time, The
Q.No: 169 jetplane driver increases the speed to 350 km/hr to reach the scheduled time. So what is the actual

speed of the jetplane?
1050 km/h
750 km/h
500 km/h
250 km/h

When 200 and 120 are divided by a number P, we get remainders of 5 and 3 respectively. Find the

sum of all the possible value of P.
55
53
56
52

| Fr1 # 3 e 3 ouw TR Ruft Afed i s@ B e -
e, wfea

1, U, g

Ry, R

g, o, <, wfew

| w1y A & T e 6 @ 0 weE @1 9T Bim-

it & Tg-aren Hew”

U@ wafd g0 feedt / der at 1Ry @ 3RE w8, 1 o vides W 5 92 ugeer )
of% Iut 1 # v Pl wRiwe 9 92 @ 8, @ 98 s0 e wed s o o uga Wi 3
ERCARI SR NG TE B GRS s it

10
20
25

is5
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T Uga & g T F 350 fei/der Sat e § o 9 A 9 aefad i 9§

1050 fft/der
750 Tsi/Ter
500 fi/ger
| 250 Frei/aer

g 200 31X 120 & e p A vl g o €, df g FHE 5 S0 3 Suhd Ui gia1 €1 P & i Svifaa A

1 TR 1 B
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53
56
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FUAEE
gt
ke
|Faw

o 0 ® >

Q.No: 173 | Fe1 # & wiki-ar fres d(ormeen) &5 @1 9@ Faeww @2
it = 7= Ryalen

T {E W AE A g

¥g 39 ¥ e R AT,

A= e o g8 wEn

feafify & s Rrer W, do fRren o <faw ofe
uw g Tl |, 3 Y61 4T vad-yagi |
Ary-wal W ganl, dadt g wil

T @t iRl ¥, yran v @i
dg-dl T aet, T & ugd @i
a1t B! § Y@ 1A @il

B T SteT T, Fem af=m TR

I€ oIE1 4 @, FUSHE &1 AR|
FUShE $1 IR, TR0 & Wl x|

gter afm wrg, e s Bt

W FE F A T TG ¢ gevret|
aher &1 uRwd, gar 8 Rred weeh

=

Q.No: 174 | Frfafea wes-wgl # & wF- fawer e et &1 el S g2

A arEE, S, St
B ugrl, Rree, =
c T, TS, i
D | v, wfergT, e,

Q.No: 175 | FrfifEa & & A “gier e gt aod & =1 o & © o1 7 o 87

A | v o frdt it fordt, o e g1w & = W

B | afdrr ad R & qurar 4t 7 8 e At v T e rer
c ot & o Frendt e o w1 w2 ol 21

D | o @t g @ e SRS
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Q.No: 176 | Prififaa & @ @l &1 wen e @ 91 we1wn @

A |Fw0
B | srgya T
c YR T
D FE ™

Q.No: 177 | Briftf@a A @ - ez qeged ar H1 6e Taree 32

A | wa

B W
c |
D HSHAR

Q.No: 178 |Frefiféa # & vud" = whfen wreg = g

A wafoft
B |wreft
c e Y
D | smaron

Q.No: 179 | Frfafs & & wes & g wu(ad) =1 = g

A R
B |
c U
D | T

Q.No: 180 | Fwfif@d & & Aee » &1 vigardt wes 721 22

A aRE
B |
c T
D | fRRee

Q.No: 181 |ﬁmﬁ1ﬁaﬁﬂm"§M”$m FH P

A | vt ygor
B | vrareftores farar
c gftrare oa
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D yaur fiig femev

Q.No: 182 |Frfdad & & »wieiia far € =1 w8 gareew &2

A oy
B gfe @ Wy
(i | e
D 1o e i

Q.No: 183 | Frfifea & § - var, vermeR “wtamme mftmmm fEh- @ &2
A it gwame

B frata o s

c S wETY

D |t i

Q.No: 184 |58 o v v +f 7¢ 7y < ol of 6 7, T o wwa € |
A T e @ et

B Grer & v g
C Farent & amer e
D | ST B AT AT

Q.No: 185 | Frefiien 4 & oy at awt w1 @1 79 Fifv-

A | wferegat
B Rafar L U
G TR
D waifees

Select the most appropriate meaning of the given idiom.

Q.No: 186
A pipe dream,
A An illusory plan.
B iA secret.
C |A realistic dream.
D |A plan in the process.

Q.No: 187 | Identify the segment that contains a grammatical error. If there is no error, select 'No error'.

https:/imppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx

36/40



T125/23, 12:50 PM mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx

My teacher said to me that all that glitters was not gold.
! My teacher said to me that
all that

glitters was not gold.

o 60 w F

No error.

Select the synonym of the given word.
Intrepid

| Detached

A

B | Rotten
C | Aesthetic
D

Fearless

In the below guestion, sentence/passage is split into four parts and named P, Q, R & 5. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four
combinations is correct.

Q.No: 189 P. Would they look into this one and find them?
Q. It seemed to Bill as if they were looking in the ruined buildings to find something.

R. They stopped every now and again.

S. Two dark figures came up the street,
|SRPQ
|RPSQ
|RQsP
SRQP

1~ B I

Select the most appropriate word for the given group of words.
A person who looks at the bright side of things,

|Oculist

A

B Optimist
C | Pessimist
D

| Atheist

Q.No: 191 |In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order,
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P. This device sent a continuous pulse of electricity into her brain.

Q. Five years ago, doctors implanted electrodes into a Slovenian woman's brain.
R. The electricity was to help manage her painful neck spasms.

S. These electrodes connected to a device in her chest known as an implantable pulse generator (IPG).

A |QPRS
B |PSQR
c QSPR
D |srqP
In the below guestion, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.
P. Indian peacekeepers, who supported the Haitian Police for over a decade and are departing from Haiti have won laurels for their commendable service.
QNo: 192 Q. Of the total 140 Indian peacekeepers, 126 officers left Haiti on July 21.
R. The remaining 14 Indian officers will depart on August 3, ending 11 years of continuous presence
S. It is to be noted that India is the 4th largest contributor of military personnel and police to United Nations peacekeeping operations.
A |QPRs :
B PQRS
c |srQP
D | PRSQ
In the question below four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.
P. But, somewhere, somehow, we leave these hobbies far behind.
Q.No: 193
Q. At least that's what happens with most people.
R. 1 used to dance, run, act, make clay models, collect ceins, write poems, review movies and do so much more, when I was a kid.
5. We all have hobbies as kids.
A |QSRP - - - -
B SRPQ
c |rsqP
D |PRSQ
Select the most appropriate option to fill in the blank.
Q.No: 194
His autobiography will be one of the most awaited books.
A happily
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B | badly
c | deftly
eagerly

Q.No: 195

| SRPQ
RSPQ
|rRasp
i PQSR

o 0 w >

Select the most appropriate synonym of the given word.

Select the most appropriate weord for the given group of words.
Q.No: 197
One who dislikes art and culture.
Mercenary
| Expert

| Professional

o 0 @ P

Philistine

In the below guestion, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.

P. A representative for the U.S. Atterney's office said it was not immediately clear what the suspect's motive was.
Q. Law enforcement officials were able to track Ms. Thompson down as the page she posted on contained her full name as part of its digital address.
R. Capital One Financial Corp said that personal information including names and addresses of about 100 million individuals were compromised.

S. The suspect, a 33-year-old former Seattle technology company software engineer identified as Paige Thompson.

Q.No: 198 | In the question below, a passage is split into 4 parts and named as P, Q, R and 5. These four parts are not given in their proper order. Read the passage and find out which of the four combinations/sequence

is correct.
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P. In the most severe stage, people with dementia are completely dependent on the help of others for the basic activities of daily life, such as keeping themselves clean and fed.
Q. There are multiple stages of dementia, ranging from some minor difficulty functioning to severe impairment.

R. Dementia is a progressive loss of cognitive function, marked by memory problems, trouble communicating, impaired judgment, and confused thinking.
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‘S. People who develop dementia may lose the ability to regulate their emotions, especially anger, and their personalities may change.

|spQr
|RsPQ
SRPQ
RSQP

o 0o @ F

Select the most appropriate option to fill in the blank,
Q.No: 199
The man was enough to thank her for all the hard work.
| repellent
© MPESB. All rights reserved

gracious

|bad

o N W oF

| attractive

Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.
Q.No: 200
My wallet is the pen.
next to
| beyond

inem

v 0 w P

besides
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